 1. Given the following scores:


Days on medication(x)
Severity score of hallucinations(y)

3 6


6 3

4 6

7 4

5 5

4



7

∑
29



31

∑2
151



171

∑XY= 141

a. Calculate the LS regression line. (Y = -.82x + 9.11)
b. What does the slope mean about hallucinations and time on medication? (every additional day on meds = .82 points lower score on severity scale)
c. What does the intercept mean about hallucinations and time on meds? (without any meds, severity = 9.11)
d. Predict the severity of hallucinations for someone on meds for 5.5 days. (Y’ = -.82(5.5)+9.11 = 4.6)
e. The standard error of the estimate for this line is .95-- explain what this means about predictions. (on average, predictions of severity using this line will be off by .95 points on the scale)
2. Given the following scores on mouse research on anxiety (yes, mice can be made anxious):


Maze running in minutes(x)
anxiety score (y)

3.7



6


4.9



4

5.3



5

5.9



7

4.6



3

3.2



2

∑
27.6



27
∑2
132



139

∑XY= 129.8

a.   Calculate the LS regression line. (Y = 1.11x - .61)
b.   What does the slope mean about maze running and anxiety? (every additional minute in maze time increases anxiety by 1.11 units on the scale)
c.
What does the intercept mean about maze running and anxiety? (with no maze to run, anxiety = -.61)
d. 
Predict the anxiety rating for a rat with a maze running time of 5.0. (Y’ = 1.11(5.0) - .61 = 4.94)
e.
The standard error of prediction for this line is 1.68--explain what this means about predictions. (predictions of anxiety levels using this line will be off by an average of 1.68 points on the scale)

